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B H H H z z = H z H z
E 1 8.00-8.45 5 X 8 X 9a X 6 X 11 9 X
= 2 8.509.35 5 x 8 X %9 | «x 6 x 1 X 9 X
E 3 9.45-10.30 7 rel 5 X 8 X 9a X 14 X 6 X 11 X 9 X
E 4 10.40-11.25 7 X 5 X 8 rel 9a | niem 10 niem 6 ang 11 rel 9 ang
2 5 11.45-12.30 7 X 5 rel 17 ang | wosir | TSt | 9a | niem | 21 ang 10 X 6 X 9b niem | wosir B
6 12.50-13.35 |wosir| B X wosir | TSt | 9a rel 10 X wosir B
7 13.50-14.35 |wosir| B X 9a X 10 rel
8 14.40-15.25 inf 9a X
9 15.30-16.15 3 inf
- rrr T rrr1rrrrrrrrr T T
E 1 8.00-8.45 7 x |wosir| B 6 | niem 9a X 9 X
£ [ 2 | 850935 | 7 | x [|wosir 6 | x 9 | «x 10 | x | M | x 9 X
S [3 [9a51030 | 7 | x | 5| x |6 | x % | x 0 | x | sf | wi 3 | inf
4 10.40-11.25 7 X 5 ang 6 X 9b rel 9a X 21 ang 10 ang pl rel sf wf 9 X
5 11.45-12.30 | 9b rel 5 X sf wf X 9a X 3 inf 6 X 1 X wosir | T St
6 12.50-13.35 X 9a X wosir B X 11 X wosir | T St
7 13.50-14.35 X 9a X wosir B 11 X 16 rel
8 14.40-15.25 sg wf
9 15.30-16.15 sg wf
N Y N e AN I
g 1 8.00-8.45 7 X 5 niem |wosir| B 8 X 9a X 11 X
2 2 8.50-9.35 7 X 5 X |wosir| B 8 X 9a X [wosir| B 11 X
e 3 9.45-10.30 7 ang 5 X 6 X 8 X 9a X |wosir| B 9b rel 11 X
4 10.40-11.25 7 X 5 6 X 8 X sg wf 9a X 3 inf 11 ang 9b rel
5 11.45-12.30 sf wf 5 X 9 X wosir B 9a X 10 X 6 X sf T St
6 12.50-13.35 9 rel |wosir B 9a X 10 X wosir B sf wf
7 13.50-14.35 9a rel 10 rel | wosir B X
8 14.40-15.25 10 X 9 X
9 15.30-16.15
- rrr —rrrrrrrrrrrrrr T T
E 1 8.00-8.45 21 ang 10 X 6 X sf wf
g 2 8.509.35 %9 | rel 10 X 6 X st | wf
% 3 9.45-10.30 9a X 10 ang 6 niem [ 9b rel M X
o 4 10.40-11.25 8 ang | 9a X sf wf 6 X 11 X 9b X
5 11.45-12.30 7 ang 5 rel 6 ang sf T St pl X 9a X 11 X 9 X
6 12.50-13.35 7 X 5 X 6 X sf wf 9a X wosir B 9 niem
7 13.50-14.35 7 X 5 X 6 X 8 X sf wf wosir B
8 14.40-15.25 7 niem 5 X 6 X X 3 inf
9 15.30-16.15 8 niem

1 8.00-8.45 5 ang 6 X wosir B 11 X 9 X
2 8.50-9.35 5 X 6 X wosir B 9a rel 11 X 9 X
3 9.45-10.30 sf wf 6 X 3 inf 9a X 11 ang 9b X
4 10.40-11.25 3 inf 6 rel 8 X 21 ang 9a X pl X 11 X 9b ang
5 11.45-12.30 7 8 X [wosir| B 9a X 10 X 6 X 3 inf | wosir B
6 12.50-13.35 7 17 ang |wosir| B 10 X 6 X wosir B
7 13.50-14.35 7 X 9a 10 X 6 X

8 14.40-15.25 3 inf 9a X 6 ang

9 15.30-16.15
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10 rel 7 X
10 X 17 ang 7 X 20 rel
10 X 9b X sf wi 17 ang
22 X 9b X 3 inf pl = sf wi
9 X wosir B 1 X 3 inf sf wf 8 ang
sf wf  |wosir B 11 X 5 X 3 X
9 X 11 rel 5 X 8 X
8 X

X 8 X
11 X = 8 =
9 rel 11 X 9b x P X
M| ox " X 3 inf 8 x
9 X 10 ang  |wosir B 7 ang | wosir B
9 ang 10 X wosir| B 7 X oy B
3 inf 10 X 7 x
10 X 7 rel

9 X 10 X

9 X 10 X

9 X 10 rel

9 X 10 X M X 17 ang pl rel
1 ang 7 rel sg T St 8 ang
o X 7 X sg wf 8 X
11 X 7 X 5 X 8 X
11 X 7 X X 8 X

5 X
T T e T T

9 X 1 7 x 5 rel 8 X

9 X M s 11 X 7 X 5 X 8 X

9 X sf wi 11 X 7 = 5 = 8 x

9 | niem | 10 x M X 7 . 5 = 3 inf

M | ang | 10 X wosir B wosir B

17 ane wosir B wosir B

e x wosir B wosir [ T St 8 rel
3 ing wosir B wosir [ T St 8 X
9 rel 10 X M rel 7 X 5 X 8 X
9 X 10 X sf wf 7 5 X sf wf
9 X o X 9b ang 5 X
wosir B 11 X 5 .
wosir B




